
21

ø40 ø50 ø63 ø80 ø100
CA2W RoHS

CA2W

CDA2W

L

L

 CDA2WL40-100Z

50

50

Z

Z

mm

100

100 M9BW

 

 40  40 mm
 50  50 mm
 63  63 mm
 80  80 mm
100 100 mm

F* Rc
TN NPT
TF G

J
K

JJ
KK

2 
S 1
3 3 
n n

B
L
F
T
 

N

 m

DC AC
0.5 1

M
3
L

5
Z

3  NPN

24 V
5 V 12 V

M9N V V V v v

IC 

PLC

G59 V V v v

3  PNP
M9P V V V v v

G5P V V v v

2 12 V
M9B V V V v v

K59 V V v v

3  NPN

24 V

12 V
G39C G39

2 K39C K39

IC 

2

3  NPN
5 V 12 V

M9NW V V V v v

G59W V V v v

3  PNP
M9PW V V V v v

G5PW V V v v

2 12 V
M9BW V V V v v

K59W V V v v

2

3  NPN
5 V 12 V M9NA v v V v v

3  PNP M9PA v v V v v

2 12 V M9BA v v V v v

G5BA V v v

2 4  NPN 5 V 12 V F59F G59F V V v v IC 

2
2 P3DW V V V v

P4DW V V v

3  NPN 5 V A96 V V IC 

2 24 V
12 V

100 V A93 V V V

PLC

100 V A90 V V IC 
100 V  200 V A54 B54 V V V

200 V A64 B64 V V

A33C A33
PLC

100 V 200 V
A34C A34

DIN A44C A44
PLC2 A59W B59W V V

/  WEB Best Pneumatics 2

0.5m M9NW 3m L M9NWL
1m M M9NWM 5m Z M9NWZ

WEB Best Pneumatics 2
D-P3DW WEB Best Pneumatics 2
D-A9 M9 P3DW D-A9 M9

CAT.CS20-222C 2016-12



22

CA2W

C
A

2
C

A
2W

C
A

2K
C

B
A

2
C

A
2m

Q
C

A
2K

W
C

A
2m

H
C

A
2W

m
H

 
  CA2WL40-100 

ø40 100st

O 
 .............1.18 , ø40

O 
 .............0.20/50st

O 
 .............100st
1.18 + 0.28 x 100/50 = 1.74 kg

mm 40 50 63 80 100
0.92 1.38 1.86 3.32 4.55
0.97 1.44 1.96 3.5 4.83
1.11 1.6 2.19 3.99 5.54
1.16 1.66 2.29 4.17 5.82
1.29 1.83 2.65 4.77 6.47
1.34 1.89 2.75 4.95 6.75
1.28 1.86 2.66 4.87 6.83
1.33 1.92 2.76 5.05 7.11

50mm 0.28 0.37 0.44 0.66 0.86
0.35 0.47 0.55 0.89 1.15
0.23 0.26 0.26 0.60 0.83
0.37 0.43 0.43 0.87 1.27

JIS

P.61 78

mm 40 50 63 80 100

1.5 MPa
1.0 MPa
0.08 MPa

50 500 mm/s

 :–10 70
:–10 60

250 st:+1.0
   0   251 1000 st:+1.4

  0

 

P.52 58

•  

• 
• 
• /

P.56 57

-XAm
-XB6 –10 150

-XC3

-XC4

-XC5 –10 110

-XC7

-XC14

-XC15

-XC22

-XC28 SS400

-XC35

-XC58 /

-XC59 /

-XC65 XC7+XC68

-XC68

-XC85

-XC3 ,

-XC6 ,
 -XC68

J 70
K 110

V V V V
V V V V
V V V V
V V V V

kg

/

1
2 WEB Best 

Pneumatics 2

3
4 20 1400 mm 1400mm

  1

40 25 50 75 100 125 150 175 200 250
300 350 400 450 500 1000

180050, 63 25 50 75 100 125 150 175 200 250
300 350 400 450 500 600 1200

80, 100 25 50 75 100 125 150 175 200 250
300 350 400 450 500 600 700 1500

mm

CAT.CS20-222C 2016-12



23

CA2W 

  !2 !3 !4 !6

 P.79
  (ø40 ø50 10 g ø63 ø80 20 g ø100 30 g)

   
   GR-S-010 (10 g) GR-S-020 (20 g)

(mm)

40 CA2W40Z-PS

!2 !3 !4 !6

50 CA2W50Z-PS

63 CA2W63Z-PS

80 CA2W80Z-PS

100 CA2W100Z-PS

1 2

2 1

3 1

4 1

5 2

6 1

7 2

8 4

9 2

10 8

11 8

12 2

13 NBR 2

14 NBR 1

15 NBR 2

16 NBR 2

17 2

18 (1)

CAT.CS20-222C 2016-12



24

CA2W

C
A

2
C

A
2W

C
A

2K
C

B
A

2
C

A
2m

Q
C

A
2K

W
C

A
2m

H
C

A
2W

m
H

B
C
B1

BC
4 x J

ZZ + 2 x 

S + 

N
H + H

N
A
AL

H1

F
K

ø
E

ø
D

MM

 KAMG

RT
F

KA
AL

H1
ø
D

ø
E

1001

MM

 KA M G
2 x P

2 x 

R
Y

ZZ + l  + 

h + l
fl10.2

ø
e

ø
d

ZZ + 2l  + 2 x 

S + 

RT
h + l  + 

l  + f10.2 l f

ø
e

ø
e

ø
d

10.2

ø
d

ø
e

1001

h + l

R
Y

(mm)

(mm) A AL B B1 C D E F G H1 J K KA M MM

40 30 27 60 22 44 16 32 10 15 8 M8 x 1.25 6 14 11 M14 x 1.5
50 35 32 70 27 52 20 40 10 17 11 M8 x 1.25 7 18 11 M18 x 1.5
63 35 32 85 27 64 20 40 10 17 11 M10 x 1.25 7 18 14 M18 x 1.5
80 40 37 102 32 78 25 52 14 21 13 M12 x 1.75 10 22 17 M22 x 1.5

100 40 37 116 41 92 30 52 14 21 16 M12 x 1.75 10 26 17 M26 x 1.5

(mm) N P RT RY S H ZZ d e f h l ZZ ZZ
40 27 1/4 30 64 84 51 186 56 43 11.2 59 1/4 stroke 194 202
50 30 3/8 30 76 90 58 206 64 52 11.2 66 1/4 stroke 214 222
63 31 3/8 40 92 98 58 214 64 52 11.2 66 1/4 stroke 222 230
80 37 1/2 45 112 116 71 258 76 65 12.5 80 1/4 stroke 267 276

100 40 1/2 50 136 126 72 270 76 65 14.0 81 1/4 stroke 279 288

CA2WB

CAT.CS20-222C 2016-12



25

CA2W 

 KA

MM

2 x 

2 x P

H1

AL
AK

F

H + G

4 x øLD

MM H1

F
K

 KA

B1 4 x J

ø
D ø
E

ø
D

ø
E

L
H

L
Y

L
T

l f

ø
e

ø
d

ZZ + l  + 

h + l

R
Y

1001

BC

B
C
LX

AL
A

H G

N RT N
XX

ZZ + 2 x 

LS + 

S + 

Y Y

10.2

mm

mm A AL B B1 C D E F G H1 J K KA LD LH LS LT LX LY

40 30 27 60 22 44 16 32 10 15 8 M8 x 1.25 6 14 9 40 138 3.2 42 70
50 35 32 70 27 52 20 40 10 17 11 M8 x 1.25 7 18 9 45 144 3.2 50 80
63 35 32 85 27 64 20 40 10 17 11 M10 x 1.25 7 18 11.5 50 166 3.2 59 93
80 40 37 102 32 78 25 52 14 21 13 M12 x 1.75 10 22 13.5 65 204 4.5 76 116

100 40 37 116 41 92 30 52 14 21 16 M12 x 1.75 10 26 13.5 75 212 6 92 133

mm MM N P RT RY S X Y H ZZ d e f h l ZZ ZZ
40 M14 x 1.5 27 1/4 30 64 84 27 13 51 186 56 43 11.2 59 1/4 194 202
50 M18 x 1.5 30 3/8 30 76 90 27 13 58 206 64 52 11.2 66 1/4 214 222
63 M18 x 1.5 31 3/8 40 92 98 34 16 58 214 64 52 11.2 66 1/4 222 230
80 M22 x 1.5 37 1/2 45 112 116 44 16 71 258 76 65 12.5 80 1/4 267 276

100 M26 x 1.5 40 1/2 50 136 126 43 17 72 270 76 65 14.0 81 1/4 279 288

CA2WL

CAT.CS20-222C 2016-12



26

CA2W

C
A

2
C

A
2W

C
A

2K
C

B
A

2
C

A
2m

Q
C

A
2K

W
C

A
2m

H
C

A
2W

m
H

4 x JB14 x øFD
 KA

MM

2 x P

2 x 
 KA

MM

 B1 H1H1

F

KK
FT

ZZ + l  + 

h + l
l f

ø
D ø
E

ø
D

ø
e

ø
d

F
Y

F
V

F
B

FZ
FX
B
C

BC

G MG

ZZ + 2 x 

S + H
NA

AL

N
H + 

A

AL

10.2

)

ød

(mm)

(mm) A AL B B1 C D E FB FD FT FV FX FY FZ G H1 J K KA M

40 30 27 60 22 44 16 32 71 9 12 60 80 42 100 15 8 M8 x 1.25 6 14 11
50 35 32 70 27 52 20 40 81 9 12 70 90 50 110 17 11 M8 x 1.25 7 18 11
63 35 32 85 27 64 20 40 101 11.5 15 86 105 59 130 17 11 M10 x 1.25 7 18 14
80 40 37 102 32 78 25 52 119 13.5 18 102 130 76 160 21 13 M12 x 1.75 10 22 17

100 40 37 116 41 92 30 52 133 13.5 18 116 150 92 180 21 16 M12 x 1.75 10 26 17

(mm) MM N P S H ZZ )d e f h l ZZ ZZ
40 M14 x 1.5 27 1/4 84 51 186 52 43 15 59 1/4 stroke 194 202
50 M18 x 1.5 30 3/8 90 58 206 58 52 15 66 1/4 stroke 214 222
63 M18 x 1.5 31 3/8 98 58 214 58 52 17.5 66 1/4 stroke 222 230
80 M22 x 1.5 37 1/2 116 71 258 80 65 21.5 80 1/4 stroke 267 276

100 M26 x 1.5 40 1/2 126 72 270 80 65 21.5 81 1/4 stroke 279 288

1000mm

CA2WF

CAT.CS20-222C 2016-12



27

CA2W 

FZ
FX
B
C

BCF
Y

F
B

4 x øFD B1 4 x J

ZZ + 2 x 

S + 

RT

H2

KA
AL NFT

H1

M
M

ø
D

 B1

 KA

G

2 x 

2 x P

1001

M

H + 

A
AL

H1

K
F

N

ø
E

ø
D

M
M

 KAG

R
Y

ø
e

ZZ + l  + 

h + l
fl10.2

(mm)

(mm) A AL B B1 C D E FB FD FT FX FY FZ G H1 J K KA M

40 30 27 60 22 44 16 32 71 9 12 80 42 100 15 8 M8 x 1.25 6 14 11
50 35 32 70 27 52 20 40 88 9 20 120 58 144 17 11 M8 x 1.25 7 18 6
63 35 32 85 27 64 20 40 105 11.5 23 140 64 170 17 11 M10 x 1.25 7 18 10
80 40 37 102 32 78 25 52 124 13.5 28 164 84 198 21 13 M12 x 1.75 10 22 12

100 40 37 116 41 92 30 52 140 13.5 29 180 100 220 21 16 M12 x 1.75 10 26 12

(mm) MM N P RT RY S H H2 ZZ d e f h l ZZ ZZ
40 M14 x 1.5 27 1/4 30 76 84 51 51 186 52 43 15 59 1/4 stroke 194 202
50 M18 x 1.5 30 3/8 30 76 90 58 67 215 58 52 19 66 1/4 stroke 214 222
63 M18 x 1.5 31 3/8 40 92 98 58 71 227 58 52 19 66 1/4 stroke 222 230
80 M22 x 1.5 37 1/2 45 112 116 71 87 274 80 65 21 80 1/4 stroke 266 276

100 M26 x 1.5 40 1/2 50 136 126 72 89 287 80 65 21 81 1/4 stroke 279 288

1001mm

1 ø40
2  ø50 ø100 1001mm , H

CA2WF

CAT.CS20-222C 2016-12



28

CA2W

C
A

2
C

A
2W

C
A

2K
C

B
A

2
C

A
2m

Q
C

A
2K

W
C

A
2m

H
C

A
2W

m
H

G

Z + 1/2 

G
 KAMM

H1

F

F
K

B1 4 x J

2 x P

MM

H1

K

 KA

ø
D

ø
E

ø
E

ø
DC BT
Y

ø
T

D
e8

l f
h + l
ZZ + l  + 

ø
d

ø
e

TZ
TX
B
C

2 x 

AL N

A
H

ZZ + 2 x 

S + 

TT
N

H + 

AL
A

10.2

P.79

(mm)

(mm) A AL B B1 C D E F G H1 J K KA MM N P S TDe8

40 30 27 60 22 44 16 32 10 15 8 M8 x 1.25 6 14 M14 x 1.5 27 1/4 84

50 35 32 70 27 52 20 40 10 17 11 M8 x 1.25 7 18 M18 x 1.5 30 3/8 90

63 35 32 85 27 64 20 40 10 17 11 M10 x 1.25 7 18 M18 x 1.5 31 3/8 98

80 40 37 102 32 78 25 52 14 21 13 M12 x 1.75 10 22 M22 x 1.5 37 1/2 116

100 40 37 116 41 92 30 52 14 21 16 M12 x 1.75 10 26 M26 x 1.5 40 1/2 126

15
15
18
25
25

–0.032
–0.059
–0.032
–0.059
–0.032
–0.059
–0.040
–0.073
–0.040
–0.073

(mm) TT TX TY TZ H Z ZZ d e f h l Z ZZ Z ZZ
40 22 85 62 117 51 93 186 56 43 11.2 59 1/4 stroke 101 194 101 202
50 22 95 74 127 58 103 206 64 52 11.2 66 1/4 stroke 111 214 111 222
63 28 110 90 148 58 107 214 64 52 11.2 66 1/4 stroke 115 222 115 230
80 34 140 110 192 71 129 258 76 65 12.5 80 1/4 stroke 138 267 138 276

100 40 162 130 214 72 135 270 76 65 14.0 81 1/4 stroke 144 279 144 288

CA2WT

CAT.CS20-222C 2016-12



52

CA2 

56

36

49.5

B

B

A

A

1433

B
A 49

36

3456

BA 33
24

.5
24

.5

Hs

Hs

G1/2
ø6.8 ~ ø9.6

Hs

Hs

G1/2
ø6.8 ~ ø11.5

32

B
A

HW36
49.5

30

49
36 HW

A

20

33

B

B

B

B

B

A

A

A

A

29A

B

H
t

H
t

Hs

H
t

H
t

Hs

H
s

G1/2
ø6.8 ~ ø9.6

H
t

Hs

H
t

H
s

G1/2
ø6.8 ~ ø11.5

Hs

H
t

Hs

H
t

< > < >
D-B5m/B64/B59W

D-A5m/A6m
D-A59W

D-A3m
D-G39/K39

D-G39C/K39C
D-A3mCD-G5m/K59

D-G5mW/K59W
D-G5BA
D-G59F/G5NT

D-F5m/J59
D-F5NT

D-F5mW/J59W
D-F5BA/F59FD-A44

D-A44C

D-P4DW

D-P3DW

D-Y59m/Y69m/Y7P/Y7PV
D-Y7mW/Y7mWV
D-Y7BA
D-Z7m/Z80

D-M9m/M9mV
D-M9mW/M9mWV
D-M9mA/M9mAV
D-A9m/A9mV

C
A

2
C

A
2W

C
A

2K
C

B
A

2
C

A
2m

Q
C

A
2K

W
C

A
2m

H
C

A
2W

m
H

CAT.CS20-222C 2016-12



53

CA2 

) 

(mm)

D-M9l
D-M9lV
D-M9lW
D-M9lWV
D-M9lA
D-M9lAV

D-A9l
D-A9lV

D-Y59l
D-Y69l
D-Y7P
D-Y7PV
D-Y7lW
D-Y7lWV
D-Y7BA
D-Z7l
D-Z80
D-B59W

D-P3DW D-P4DW

D-F5l
D-J59
D-F59F
D-F5lW
D-J59W
D-F5BA

D-F5NT D-A59W

D-G39
D-G39C
D-K39
D-K39C
D-A5l
D-A6l
D-A3l
D-A3lC
D-A44
D-A44C

D-G5l
D-K59
D-G5NT
D-G5lW
D-K59W
D-G5BA
D-G59F

D-B5l
D-B64

A B A B A B A B A B A B A B A B A B A B A B
40   9   9   5   5   2.5 2.5 4.5 4.5   2 2   5.5   5.5 10.5 10.5   3   3 0 0 1 1 0 0

50   9.5   8.5   5.5   4.5   3 2 5 4   2.5 1.5   6   5 11 10   3.5   2.5 0 0 1.5 0.5 0 0

63 12.5 11.5   8.5   7.5   6 5 3 2.5   5.5 4.5   9   8 14 13   6.5   5.5 2.5 1.5 4.5 3.5 3 2

80 16.5 13.5 12.5   9.5 10 7 7.5 4   9.5 6.5 13 10 18 15 10.5   7.5 6.5 3.5 8.5 5.5 7 4

100 18 16 14 12 11.5 9.5 9 6.5 11 9 14.5 12.5 19.5 17.5 12 10 8 6 10 8 8.5 6.5

(mm)

D-M9l
D-M9lW
D-M9lA
D-A9l

D-M9lV
D-M9lWV
D-M9lAV

D-A9lV

D-Y59l
D-Y7P
D-Y7BA
D-Y7lW
D-Z7l
D-Z80

D-Y69l
D-Y7PV
D-Y7lWV

D-P3DW D-P4DW

D-G5l
D-K59 
D-G5NT
D-G5lW
D-K59W
D-G5BA
D-G59F
D-B5l
D-B64 
D-B59W

D-G39
D-K39
D-A3l

D-A44

D-F5l
D-J59
D-F5lW
D-J59W
D-F5BA
D-F59F 
D-F5NT

D-A5l
D-A6l
D-A59W

D-G39C 
D-K39C
D-A3lC

D-A44C

Hs Ht Hs Ht Hs Ht Hs Ht Hs Ht Hs Ht Hs Ht Hs Hs Hs Hs Ht Hs Ht Hs Ht Hs Ht
40 30   30 34   30 31   30 30   30   30   30   38 30 42.5 33   37     71.5   81.5 38   31.5 38.5 31.5   73   69   81   69

50 34   34 38   34 35   34 34   34   34   34   42 34 46.5 37.5 42     76.5   86.5 42   35.5 42   35.5   78.5   77   86.5   77

63 41   41 44   41 41.5 41 41   41   41   41   49 41 52   43   49     83.5   93.5 47   43   46.5 43     85.5   91   93.5   91

80 49.5 49 52.5 49 50   49 49.5 49   49.5 49   56 49 58.5 51.5 57.5   92 102   53.5 51   53.5 51     94 107 102   107

100 56.5 56 61   56 58.5 56 56.5 55.5 57.5 55.5 65 56 66   58.5 68   102.5 112.5 61   57.5 61.5 57.5 104   121 112   121

 ( )

CAT.CS20-222C 2016-12



54

CA2

C
A

2
C

A
2W

C
A

2K
C

B
A

2
C

A
2m

Q
C

A
2K

W
C

A
2m

H
C

A
2W

m
H

1) 
2) D-A9l D-A9lV CDA2lQ ø50

1) D-A9l D-A9lV CDA2lQ ø50
2) D-G39 G39C K39 K39C A3l D-A3lC A44 A44C G5lW K59W G5BA G59F P4DW CDAlQ ø40 ø50

(mm)

D-M9l
D-M9lV
D-M9lW
D-M9lWV
D-M9lA
D-M9lAV

D-A9l
D-A9lV

D-Y59l
D-Y69l
D-Y7P
D-Y7PV 
D-Y7lW 
D-Y7lWV 
D-Y7BA
D-B59W
D-Z7l
D-Z80

D-P3DW D-P4DW

D-G39
D-G39C
D-K39
D-K39C
D-A5l
D-A6l
D-A3l
D-A3lC
D-A44
D-A44C

D-G5l
D-K59 
D-G5NT
D-G5lW
D-K59W 
D-G5BA
D-G59F 

D-B5l
D-B64

D-F5l
D-J59
D-F59F
D-F5lW
D-J59W 
D-F5BA

D-F5NT D-A59W

A B A B A B A B A B A B A B A B A B A B A B
40 10   8   6   4   4   1 6 3   3.5 0.5 0.5 0 2.5 0 1 0   7   4 12   9   4.5   1.5

50 10   8   6   4   3.5   1.5 5.5 3.5   3 1 0 0 2 0 0.5 0   6.5   4.5 11.5   9.5   4   2

63 12.5 11.5   8.5   7.5   6   5 3 1.5   5.5 4.5 2.5 1.5 4.5 3.5 3 2   9   8 14 13   6.5   5.5

80 16 14 12 10   9.5   7.5 6 4.5   9 7 6 4 8 6 6.5 4.5 12.5 10.5 17.5 15.5 10   8

100 17.5 16.5 13.5 12.5 11 10 8 6.5 10.5 9.5 7.5 6.5 9.5 8.5 8 7 14 13 19 18 11.5 10.5

(mm)

D-M9l
D-M9lW
D-M9lA
D-A9l

D-M9lV
D-M9lWV
D-M9lAV

D-A9lV

D-Y59l
D-Y7P
D-Y7lW
D-Y7BA
D-Z7l
D-Z80

D-Y69l
D-Y7PV
D-Y7lWV

D-P3DW D-P4DW

D-G5l
D-K59 
D-G5lW
D-K59W
D-G59F
D-G5BA
D-G5NT
D-B5l
D-B64 
D-B59W

D-G39
D-K39
D-A3l

D-A44

D-F5l
D-J59
D-F5lW
D-J59W
D-F59F
D-F5BA
D-F5NT

D-A5l
D-A6l
D-A59W

D-G39C 
D-K39C
D-A3lC

D-A44C

Hs Ht Hs Ht Hs Ht Hs Ht Hs Ht Hs Ht Hs Ht Hs Hs Hs Hs Ht Hs Ht Hs Ht Hs Ht
40 30 30 34 30 31 30 30 30 30 30 38 30 42.5 33 37 71.5 81.5 38 31.5 38.5 31.5 73 69 81 69

50 34 34 38 34 35 34 34 34 34 34 42 34 46.5 37.5 42 76.5 86.5 42 35.5 42 35.5 78.5 77 86.5 77

63 41 41 44 41 41.5 41 41 41 41 41 49 41 52 43 49 83.5 93 47 43 46.5 43 85.5 91 93.5 91

80 49.5 49 52.5 49 50 49 49.5 49 49.5 49 56 49 58.5 51.5 57.5 92 102 53.5 51 53.5 51 94 107 102 107

100 56.5 56 61 56 58.5 56 58.5 55.5 57.5 55.5 65 56 66 58.5 68 102.5 112.5 61 57.5 61.5 57.5 104 121 112 121

 ( )

CAT.CS20-222C 2016-12



55

CA2 

(mm)

  30%
1) ( ) CDA2lQ CDA2lH CDA2WlH
2) D-A9l D-A9lV CDA2lQ CDA2lH CDA2WlH ø50
3) D-G39 G39C K39 K39C A3l A3lC A44 A44C G5lW K59W G5BA G59F P4DW CDA2lQ ø40

40 50 63 80 100

D-M9l/M9lV
D-M9lW/M9lWV
D-M9lA/M9lAV

  4.5   5 5.5 5 6

D-A9l/A9lV   7.5
(7)

  8.5
( )

9.5
(9)

9.5
(9)

10.5
(9)

D-Z7l/Z80   8.5   7.5 9.5 9.5 10.5

D-A3l/A44
D-A3lC/A44C

  9   10   11 11 11
D-A5l/A6l

D-B5l/B64

D-A59W 13   13   14 14 15

D-B59W 14   14   17 16 18

40 50 63 80 100
D-Y59l/Y69l
D-Y7P/Y7lV
D-Y7lW/Y7lWV
D-Y7BA

  8   7   5.5   6.5   6.5

D-F5l/J59/F5lW
D-J59W/F5BA
D-F5NT/F59F

  4   4   4.5   4.5   4.5

D-G5l/K59/G5lW
D-K59W/G5BA
D-G5NT/G59F

  5   6   6.5   6.5   7 

D-G5NBL 35   35 40   40   40   
D-G39/K39
D-G39C/K39C

  9   9 10   10   11   

D-P3DW   4.5   5   6   5.5   6 
D-P4DW   4   4   4.5   4   4.5

 D-A9l D-A9lV ø50
) 

(mm)

D-M9l
D-M9lV
D-M9lW
D-M9lWV
D-M9lA
D-M9lAV

D-A9l
D-A9lV

D-Y59l
D-Y69l
D-Y7P
D-Y7PV 
D-Y7lW 
D-Y7lWV 
D-Y7BA
D-B59W
D-Z7l
D-Z80

D-P3DW D-P4DW

D-G39
D-G39C
D-K39
D-K39C
D-A5l
D-A6l
D-A3l
D-A3lC
D-A44
D-A44C

D-G5l
D-K59 
D-G5NT
D-G5lW
D-K59W 
D-G5BA
D-G59F 

D-B5l
D-B64

D-F5l
D-J59
D-F59F
D-F5lW
D-J59W 
D-F5BA

D-F5NT D-A59W

A B A B A B A B A B A B A B A B A B A B A B
40   9.5   8.5   5.5   4.5   3.5   1.5 5.5 3.5   3 1 0 0 2 0 0.5 0   6.5   4.5 11.5   9.5   4   2

50 10   8   3.5   1.5 5.5 3.5   3 1 0 0 2 0 0.5 0   6.5   4.5 11.5   9.5   4   2

63 12.5 11.5   8.5   7.5   6   5 3 1.5   5.5 4 2.5 1.5 4.5 3.5 3 2   9   8 14 13   6.5   5.5

80 16 14 12 10   9.5   7.5 6 4.5   9 7 6 4 8 6 6.5 4.5   4.5 12.5 17.5 15.5 10   8

100 17.5 16.5 13.5 12.5 11 10 8 6.5 10.5 9 7.5 6.5 9.5 8.5 8 7 14 13 19 18 11.5 10.5

(mm)

 D-A9l D-A9lV ø50

CDA2lH

D-M9l
D-M9lW
D-M9lA
D-A9l

D-M9lV
D-M9lWV
D-M9lAV

D-A9lV

D-Y59l
D-Y7P
D-Y7BA
D-Y7lW
D-Z7l
D-Z80

D-Y69l
D-Y7PV
D-Y7lWV

D-P3DW D-P4DW

D-G5l
D-K59 
D-G5NT
D-G5lW
D-K59W
D-G5BA
D-G59F
D-B5l
D-B64 
D-B59W

D-G39
D-K39
D-A3l

D-A44

D-F5l
D-J59
D-F5lW
D-J59W
D-F5BA
D-F59F 
D-F5NT

D-A5l
D-A6l
D-A59W

D-G39C 
D-K39C 
D-A3lC

D-A44C

Hs Ht Hs Ht Hs Ht Hs Ht Hs Ht Hs Ht Hs Ht Hs Hs Hs Hs Ht Hs Ht Hs Ht Hs Ht
40 30   30 35   30 32   30 30   30   30.5 30   38 30 43 33.5 38     72.5   82.5 38.5 31   40   31     73   69   81   69

50 34   34 39   34 34   34   35   34   42 34 47  38 43.5   78   88  42.5 35   43.5 35     78.5   77   86.5   77

63 41   41 46   41 43.5 41 41   41   42.5 41   49 41  53 44 50.5   85   95  48   42   49   42     85.5   91   93.5   91

80 49.5 49 54 49 51.5 49 49.5 48.5 51 48.5 56 49  60 52 59     93.5 103.5 54   50   55.5 50     94 107 102   107

100 57 56 62.5 56 59.5 56 58.5 56 59 56 65 56 67 59 69.5 104 114 62 57.5 63 57.5 104   121 112   121

 ( )

CAT.CS20-222C 2016-12



56

CA2

C
A

2
C

A
2W

C
A

2K
C

B
A

2
C

A
2m

Q
C

A
2K

W
C

A
2m

H
C

A
2W

m
H

1) n n+1
2) n n+1 n+3 4

n:  (mm)

ø40 ø50 ø63 ø80 ø100

D-M9l
D-M9lW

2  ( ) 
1

15   80   85   90   95

n
15 + 40 (n  2)

2

(n = 2 4 6 8· · ·)  1)

80 + 40 (n  4)
2

(n = 4 8 12 16· · ·)  2)

85 + 40 (n  4)
2

(n = 4 8 12 16· · ·)  2)

90 + 40 (n  4)
2

(n = 4 8 12 16· · ·)  2)

95 + 40 (n  4)
2

(n = 4 8 12 16· · ·)  2)

D-M9lV
D-M9lWV

2  ( ) 
1

10   55   60   65   70

n
10 + 30 (n  2)

2

(n = 2 4 6 8· · ·)  1)

55 + 30 (n  4)
2

(n = 4 8 12 16· · ·)  2)

60 + 30 (n  4)
2

(n = 4 8 12 16· · ·)  2)

65 + 30 (n  4)
2

(n = 4 8 12 16· · ·)  2)

70 + 30 (n  4)
2

(n = 4 8 12 16· · ·)  2)

D-M9lA

2  ( ) 
1

15   80   85   95 100

n
15 + 40 (n  2)

2

(n = 2 4 6 8· · ·)  1)

80 + 40 (n  4)
2

(n = 4 8 12 16· · ·)  2)

85 + 40 (n  4)
2

(n = 4 8 12 16· · ·)  2)

95 + 40 (n  4)
2

(n = 4 8 12 16· · ·)  2)

100 + 40 (n  4)
2

(n = 4 8 12 16· · ·)  2)

D-M9lAV

2  ( ) 
1

10   60   65   70   75

n
10 + 30 (n  2)

2

(n = 2 4 6 8· · ·)  1)

60 + 30 (n  4)
2

(n = 4 8 12 16· · ·)  2)

65 + 30 (n  4)
2

(n = 4 8 12 16· · ·)  2)

70 + 30 (n  4)
2

(n = 4 8 12 16· · ·)  2)

75 + 30 (n  4)
2

(n = 4 8 12 16· · ·)  2)

D-A9l

2  ( ) 
1

15   75   80   85   90

n
15 + 40 (n  2)

2

(n = 2 4 6 8· · ·)  1)

75 + 40 (n  4)
2

(n = 4 8 12 16· · ·)  2)

80 + 40 (n  4)
2

(n = 4 8 12 16· · ·)  2)

85 + 40 (n  4)
2

(n = 4 8 12 16· · ·)  2)

90 + 40 (n  4)
2

(n = 4 8 12 16· · ·)  2)

D-A9lV

2  ( ) 
1

10   50   55   60   65

n
10 + 30 (n  2)

2

(n = 2 4 6 8· · ·)  1)

50 + 30 (n  4)
2

(n = 4 8 12 16· · ·)  2)

55 + 30 (n  4)
2

(n = 4 8 12 16· · ·)  2)

60 + 30 (n  4)
2

(n = 4 8 12 16· · ·)  2)

65 + 30 (n  4)
2

(n = 4 8 12 16· · ·)  2)

D-F5l/J59
D-F5lW/J59W
D-F5BA/F59F
D-A5l/A6

2  ( ) 
1

15   90 100 110 120

n  ( )
15 + 55 (n  2)

2

(n = 2 4 6 8· · ·)  1)

90 + 55 (n  4)
2

(n = 4 8 12 16· · ·)  2)

100 + 55 (n  4)
2

(n = 4 8 12 16· · ·)  2)

110 + 55 (n  4)
2

(n = 4 8 12 16· · ·)  2)

120 + 55 (n  4)
2

(n = 4 8 12 16· · ·)  2)

D-F5NT

2  ( ) 
1

25 110 120 130 140

n  ( )
25 + 55 (n  2)

2

(n = 2 4 6 8· · ·)  1)

110 + 55 (n  4)
2

(n = 4 8 12 16· · ·)  2)

120 + 55 (n  4)
2

(n = 4 8 12 16· · ·)  2)

130 + 55 (n  4)
2

(n = 4 8 12 16· · ·)  2)

140 + 55 (n  4)
2

(n = 4 8 12 16· · ·)  2)

D-A59W

2  ( ) 
1

20   90 100 110 120

n  ( )
20 + 55 (n  2)

2

(n = 2 4 6 8· · ·)  1)

90 + 55 (n  4)
2

(n = 4 8 12 16· · ·)  2)

100 + 55 (n  4)
2

(n = 4 8 12 16· · ·)  2)

110 + 55 (n  4)
2

(n = 4 8 12 16· · ·)  2)

120 + 55 (n  4)
2

(n = 4 8 12 16· · ·)  2)

1 15   90 100 110 120

D-G5l/K59
D-G5lW
D-K59W
D-G5BA
D-G59F
D-G5NT
D-B5l/B64

2
15

  90 100 110
75

n

15 + 50 (n  2)
2

(n = 2 4 6 8· · ·)  1)

90 + 50 (n  4)
2

(n = 4 8 12 16· · ·)  2)

100 + 50 (n  4)
2

(n = 4 8 12 16· · ·)  2)

110 + 50 (n  4)
2

(n = 4 8 12 16· · ·)  2)

75 + 50 (n  2)
(n = 2 3 4· · ·)

90 + 50 (n  2)
(n = 2 4 6 8· · ·)  1)

100 + 50 (n  2)
(n = 2 4 6 8· · ·)  1)

110 + 50 (n  2)
(n = 2 4 6 8· · ·)  1)

1 10   90 100 110

D-B59W

2
20

  90 100 110
75

n

20 + 50 (n  2)
2

(n = 2 4 6 8· · ·)  1)

90 + 50 (n  4)
2

(n = 4 8 12 16· · ·)  2)

100 + 50 (n  4)
2

(n = 4 8 12 16· · ·)  2)

110 + 50 (n  4)
2

(n = 4 8 12 16· · ·)  2)

75 + 50 (n  2)
(n = 2 3 4· · ·)

90 + 50 (n  2)
(n = 2 4 6 8· · ·)  1)

100 + 50 (n  2)
(n = 2 4 6 8· · ·)  1)

110 + 50 (n  2)
(n = 2 4 6 8· · ·)  1)

1   15   90 100 110

CAT.CS20-222C 2016-12



57

CA2 

n:  (mm)

1) n n+1
2) n n+1 n+3 4

ø40 ø50 ø63 ø80 ø100

D-G39
D-K39
D-A3l

2
  35 75 80 90
100 100 100 100

n

35 + 30 (n  2)
(n = 2 3 4· · ·)

75 + 30 (n  2)
(n = 2 4 6 8· · ·)  1)

80 + 30 (n  2)
(n = 2 4 6 8· · ·)  1)

90 + 30 (n  2)
(n = 2 4 6 8· · ·)  1)

100 + 100 (n  2)
(n = 2 3 4· · ·)

100 + 100 (n  2)
(n = 2 4 6 8· · ·)  1)

1   10    75 80 90

D-A44

2
  35

   75 80 90
  55

n

35 + 30 (n  2)
(n = 2 3 4· · ·)

75 + 30 (n  2)
(n = 2 4 6 8· · ·)  1)

80 + 30 (n  2)
(n = 2 4 6 8· · ·)  1)

90 + 30 (n  2)
(n = 2 4 6 8· · ·)  1)

55 + 50 (n  2)
(n = 2 3 4· · ·)

75 + 50 (n  2)
(n = 2 4 6 8· · ·)  1)

80 + 50 (n  2)
(n = 2 4 6 8· · ·)  1)

90 + 50 (n  2)
(n = 2 4 6 8· · ·)  1)

1   10    75 80 90

D-G39C
D-K39C
D-A3lC

2
  20    75 80 90
100 100 100 100

n

20 + 35 (n  2)
(n = 2 3 4· · ·)

75 + 35 (n  2)
(n = 2 4 6 8· · ·)  1)

80 + 35 (n  2)
(n = 2 4 6 8· · ·)  1)

90 + 35 (n  2)
(n = 2 4 6 8· · ·)  1)

100 + 100 (n  2)
(n = 2 3 4 5· · ·)

100 + 100 (n  2)
(n = 2 4 6 8· · ·)  1)

1   10    75 80 90

D-A44C

2
  20

   75 80 90
  55

n

20 + 35 (n  2)
(n = 2 3 4· · ·)

75 + 35 (n  2)
(n = 2 4 6 8· · ·)  1)

80 + 35 (n  2)
(n = 2 4 6 8· · ·)  1)

90 + 35 (n  2)
(n = 2 4 6 8· · ·)  1)

55 + 50 (n  2)
(n = 2 3 4· · ·)

75 + 50 (n  2)
(n = 2 4 6 8· · ·)  1)

80 + 50 (n  2)
(n = 2 4 6 8· · ·)  1)

90 + 50 (n  2)
(n = 2 4 6 8· · ·)  1)

1   10    75 80 90

D-Y59l/Y7P
D-Y7lW
D-Z7l/Z80

2  ( ) 
1

  15 80 85 90 95 105

n
15 + 40

(n  2)
2

(n = 2 4 6 8· · ·)  1)

80 + 40 (n  4)
2

(n = 4 8 12 16· · ·)  2)

85 + 40 (n  4)
2

(n = 4 8 12 16· · ·)  2)

90 + 40 (n  4)
2

(n = 4 8 12 16· · ·)  2)

95 + 40 (n  4)
2

(n = 4 8 12 16· · ·)  2)

105 + 40 (n  4)
2

(n = 4 8 12 16· · ·)  2)

D-Y69l/Y7PV
D-Y7lWV

2  ( ) 
1

  10    65 75 80 90

n
10 + 30

(n  2)
2

(n = 2 4 6 8· · ·)  1)

65 + 30 (n  4)
2

(n = 4 8 12 16· · ·)  2)

75 + 30 (n  4)
2

(n = 4 8 12 16· · ·)  2)

80 + 30 (n  4)
2

(n = 4 8 12 16· · ·)  2)

90 + 30 (n  4)
2

(n = 4 8 12 16· · ·)  2)

D-Y7BA

2  ( ) 
1

  20    95 100 105 110

n
20 + 45

(n  2)
2

(n = 2 4 6 8· · ·)  1)

95 + 45 (n  4)
2

(n = 4 8 12 16· · ·)  2)

100 + 45 (n  4)
2

(n = 4 8 12 16· · ·)  2)

105 + 45 (n  4)
2

(n = 4 8 12 16· · ·)  2)

110 + 45 (n  4)
2

(n = 4 8 12 16· · ·)  2)

D-P3DW

2  ( ) 
1

  15 85

n
15 + 50

(n  2)
2

(n = 2 4 6 8· · ·)  1)

85 + 50 (n  4)
2

(n = 4 8 12 16· · ·)

D-P4DW

2  ( ) 
1

  15  120 130 140

n
15 + 65 (n  2)

2
(n = 2 4 6 8· · ·)  1)

120 + 65 (n  4)
2

(n = 4 8 12 16· · ·)  2)

130 + 65 (n  4)
2

(n = 4 8 12 16· · ·)  2)

140 + 65 (n  4)
2

(n = 4 8 12 16· · ·)  2)

CAT.CS20-222C 2016-12



58

CA2

C
A

2
C

A
2W

C
A

2K
C

B
A

2
C

A
2m

Q
C

A
2K

W
C

A
2m

H
C

A
2W

m
H

  D-M9l(V) M9lW(V) M9lA(V) A9l(V)

[ ]

BBA1: For D-A5 A6 F5 J5
BBA3: For D-B5 B6 G5 K5

2   BBA1 BBA3 WEB Best Pneumatics 2
 D-F5BA G5BA BBA1 BBA3

3   D-M9lA(V) Y7BA BA7-lll BA4-lll BBA1
 BBA1 M4 6L

4   

1   D-A3lC/A44C/G39C/K39C
 ( ) ø40 D-A3lC-4 ø50 D-A3lC-5 ø63 D-A3lC-6 ø80 D-A3lC-8 ø100 D-A3lC-10

< >

 (mm)
40 50 63 80 100

D-G39/K39
D-A3l/A44

BD1-04M BD1-05M BD1-06M BD1-08M BD1-10M

D-G5l/K59
D-G5lW/K59W
D-G59F
D-G5NT
D-G5NB
D-B5l/B64
D-B59W

BA-04 BA-05 BA-06 BA-08 BA-10

< >

 (mm)
40 50 63 80 100

D-G39/K39
D-A3l/A44

BDS-04M BDS-05M BMB1-063 BMB1-080 BMB1-100

D-G5l/K59
D-G5lW/K59W
D-G59F
D-G5NT
D-G5NB
D-B5l/B64
D-B59W

BH2-040 BA5-050 BAF-06 BAF-08 BAF-10

 (mm)
40 50 63 80 100

D-M9l/M9lV
D-M9lW/M9lWV
D-M9lA/M9lAV
D-A9l/A9lV

BA7-040 BA7-040 BA7-063 BA7-080 BA7-080

D-F5l/J59
D-F5lW/J59W
D-F59F/F5NT
D-A5l/A6l
D-A59W

BT-04 BT-04 BT-06 BT-08 BT-08

D-G39C/K39C
D-A3lC/A44C

BA3-040 BA3-050 BA3-063 BA3-080 BA3-100

D-Y59l/Y69l
D-Y7P/Y7PV
D-Y7lW/Y7lWV
D-Y7BA
D-Z7l/Z80

BA4-040 BA4-040 BA4-063 BA4-080 BA4-080

D-P3DW BMB9-050S BMB9-050S BA9T-063S BA9T-080S BA9T-080S
D-P4DW BAP2-040 BAP2-040 BAP2-063 BAP2-080 BAP2-080

 WEB Best Pneumatics 2
  NC = b D-F9G F9H Y7G Y7H WEB Best Pneumatics 2

WEB Best Pneumatics 2

D-M9NV/M9PV/M9BV
D-Y69A/Y69B/Y7PV
D-M9NWV/M9PWV/M9BWV

2
D-Y7NWV/Y7PWV/Y7BWV
D-M9NAV/M9PAV/M9BAV 2
D-Y59A/Y59B/Y7P
D-F59/F5P/J59
D-Y7NW/Y7PW/Y7BW

2
D-F59W/F5PW/J59W
D-F5BA/Y7BA 2
D-F5NT/G5NT
D-P5DW 2
D-A93V/A96V
D-A90V
D-A53/A56/B53/Z73/Z76
D-A67/Z80

CAT.CS20-222C 2016-12



59

/

 2

 1

 2

 1

 2

 1

COM

COMCOM

COM

* 50ms  

PLC PLC

OFF

ON

2 OR
OFF

20V

2 AND
ON

2 ON

  3 k .
1 mA

OFF = 2
= 1 mA 2 3 k
= 6 V

 DC 24V
4V

ON = – 2
= 24 V – 4 V 2
= 16 V

3 , NPN

2

3 , PNP

2

(PLC )

(PLC )

(PLC )

(PLC )

3 NPN AND
( ) ( )

3 NPN OR

3 PNP AND
( ) ( )

3 PNP OR

2 AND 2 OR

AND ( ) OR ( )

 2

 1

 2

 1

 2

 1

 2

 1

 2

 1

CAT.CS20-222C 2016-12



60

CA2

C
A

2
C

A
2W

C
A

2K
C

B
A

2
C

A
2m

Q
C

A
2K

W
C

A
2m

H
C

A
2W

m
H

CAT.CS20-222C 2016-12



1

1 1

-XA0 30

-XC14

-XC15

-XB5

-XB6

-XC3

-XC4

-XC5

-XC6

-XC7

-XC8

-XC9

-XC10

-XC11

-XC12

-XC22

-XC27

-XC28

-XC29

-XC30

-XC35

-XC65

-XC68

-XC85

-X1184

–10 150

–10 110

/

/

/

/

SS400

XC7+XC68

 

–10 120

M
CA2

CA2

1

M CD-ROM

CA2 

.

61

CAT.CS20-222C 2016-12



62

CA2

C
A

2
C

A
2W

C
A

2K
C

B
A

2
C

A
2m

Q
C

A
2K

W
C

A
2m

H
C

A
2W

m
H

P.63

P.65

P.65

P.66

P.66

P.67

P.67

P.68

P.68

P.68

P.69

P.70

P.71

P.72

P.73

P.73

P.73

P.74

P.74

P.75

P.75

P.76

P.76

P.77

P.78

CA2K CA2lH CBA2

CA2K 1 CA2lH 1 CBA2 1

-XA0 30

-XC14

-XB5

-XB6

-XC3

-XC4

-XC5

-XC6

-XC7

-XC8

-XC9

-XC10

-XC11

-XC12

-XC22

-XC27

-XC28

-XC29

-XC30

-XC35

-XC65

-XC68

-XC85

-X1184

-XC15

CAT.CS20-222C 2016-12



CA2 
WEB

http://www.smcworld.com

A
H H H

W1

C øDAC0.5

T

30

H

30

H
W1T

WAC
C0.5 

H

TPR 

H

R 

H

ALB
MM

30

øD
C

H
T W1

øDA
øDA

øDA
øDA

A A A
H H

C

C
AL

MMC

H

C0.5
R 30 30 30

H
L

LW

30
øRD øRD B ALMM

H

30
H

30

ALMM

H
30

1 -XA0 XA30

1. 2. D
D  6 D – 1 mm, 6 < D  25 D – 2 mm, D  25 D – 4 mm

3. 

CA2 XA0 30

CA2W XA0 30

CA2K XA0 1 6 10 11 13 14 17 19 21

CBA2 XA0 30

CA2lH XA1 3 5 8 10 11 13 23 26 30

A0 A1 A2 A3

A4 A5 A6 A7

A8 A9 A10 A11

A12 A13 A14 A15

63

CAT.CS20-222C 2016-12



64

CA2

C
A

2
C

A
2W

C
A

2K
C

B
A

2
C

A
2m

Q
C

A
2K

W
C

A
2m

H
C

A
2W

m
H

A L K
H

MM 30

AL
H

MM

H
A

MM 30

AL L K
H

MM

H
A

MM 30

AL
H

LB K
A

MM

øDA
30

MM

A
L

H

øDA
30

MM

AL
A

H

LW

T

30
MM

A
T

H

W

30

H
A

MM 30

W

C B
A

H

L
øRD

30

L A
H

MM
øDA

30

H

øDA

AC

AL
MM 30

MM
30

ø
D

B
 

H
A
T 

ø
D

A
 

MM

H

ø
D

A 30

T 
A

ø
D

B

A16 A17 A18 A19

A20 A21 A22 A23

A24 A25 A26 A27

A28 A29 A30

CAT.CS20-222C 2016-12



65

CA2 

(Z + 1/2 ) =

-XC14A -XC14B

M = M =

1. -XC14A B Z + 1/2  
2. 

3. 
4. 
5. 

-X3

2 -XC14

M

1. M
2. 

3. 
4. F G C D M

(mm)

-XC153

 

CA2

CA2W

CA2K

CA2KW

CBA2

CA2H

(mm)

Z + 1/2 

-XC14A -XC14B -XC14

40 89 97 + 89.5 96.5 + 93 + 1/2 1
50 99 107 + 99.5 106.5 + 103 + 1/2 1
63 103 111 + 103.5 110.5 + 107 + 1/2 1
80 125 133 + 125.5 132.5 + 129 + 1/2 1
100 132 138 + 132.5 137.5 + 135 + 1/2 1

 

CA2

CA2W

CA2K

CA2KW

CBA2

CA2H

M 0
M 300

CAT.CS20-222C 2016-12



CA2 
ø

D W

H1

AL
KA

H
ZZ + 

 B1

 KA

MM

-XB51

/

CA2

(mm)

A AL B1 øD H H1 K KA MM W ZZ

40 35 32 27 20 58 11  7 18 M18 x 1.5 9 153

50 40 37 32 25 71 13 11 22 M22 x 1.5 9 172

63 40 37 32 25 71 13 11 22 M22 x 1.5 9 183

80 40 37 41 30 72 16 11 26 M26 x 1.5 0 205

100 50 47 46 36 85 18 15 31 M30 x 1.5 0 228

CA 

CA2

–10 150

1  
2   
3   

 
4  50 500 mm/s

-XB6–10 1502

/

CA2

CA2W

CBA2

–10 150

XB6

XB5

 

66

C
A

2
C

A
2W

C
A

2K
C

B
A

2
C

A
2m

Q
C

A
2K

W
C

A
2m

H
C

A
2W

m
H

CAT.CS20-222C 2016-12



67

CA2 

/

-XC33

/

CA2

CA2W

CBA2

1. A B C D
2. 
3. -XC3 A B A B
4. 

XC3 A C

  A B C D

CBA2

A C

  A B C D

CA2
CA2W

4 -XC4

/

CA2

CA2W

CBA2

XC4

  

 

XC3

 

CAT.CS20-222C 2016-12



68

CA2

C
A

2
C

A
2W

C
A

2K
C

B
A

2
C

A
2m

Q
C

A
2K

W
C

A
2m

H
C

A
2W

m
H

-XC77

/

CA2

CA2W

CA2K

CA2KW

CBA2

–10 70 110

1  
2  
3  

-XC5–10 1105

/

CA2

CA2W

–10 110

 2

XC5

XC6

XC7

-XC66

/

CBA2 

CA2lH

CA2lHW

mm
1500

1000

 

CAT.CS20-222C 2016-12



69

CA2 

ZZ + 2 ×  + 

MH +  + 

ML + 

4

MN

ø
M

I

MK H2

 MG
 B2

/8 -XC8

/

CA2

CA2K

CBA2

A B

mm 0 25 0 50

1.  

2.  

(mm)

B2 H2 MG MH MI MK ML MN ZZ
40 17 6 19 45 32 10 22 M10 1.25 180

50 22 8 24 49 38 13 24 M14 1.5 197

63 22 8 24 49 38 13 24 M14 1.5 205

80 24 10 27 66 45 14 32 M16 1.5 253

100 30 12 32 69 55 17 35 M20 1.5 267

 

/

XC8CA2 Z
 

/

XC8
 

CA2B

CAT.CS20-222C 2016-12



70

CA2

C
A

2
C

A
2W

C
A

2K
C

B
A

2
C

A
2m

Q
C

A
2K

W
C

A
2m

H
C

A
2W

m
H

/9 -XC9

/

CA2

CA2K

CBA2

/

A B

mm 0 25 0 50

1. 

2. 
 

 

/

XC9

XC9

CA2

CA2K
CBA2

Z
 

 

ZZ  +  + 

d + 

b c

MM
 KA (mm)

b c d KA MM ZZ
40  9  8 36  8 M12 x 1.25 171

50 11  8 42 13 M16 x 1.5 190

63 11  8 44 17 M20 x 1.5 200

80 15 10 54 19 M24 x 1.5 241

100 15 10 55.5 19 M24 x 1.5 253.5

CA2

(mm)

d c b KA MM ZZ
40 44  8  9 11 M16 x 1.5 179

50 42  8 11 11 M16 x 1.5 190

63 48  8 11 14 M20 x 1.5 204

80 55 10 15 19 M24 x 1.5 242

100 57 10 15 19 M24 x 1.5 255

CA2K, CBA2 

CAT.CS20-222C 2016-12



71

CA2 

-XC10/10
3

/

CA2

CA2K

CBA2

mm 40 100
mm  A + B = 1000

GB

ZZ +  (A + B)

S +  (A + B)

Q

 A B

AD  AB C

CDB A

 A B AB D C

CB B D A

CA2K
CBA2

/

 A  B XC10CA2 Z
 

/

 A  B XC10
 

A B

A A B

B

 

(mm)

GB Q S ZZ
40 29 53 167 269

50 33 59 179 295

63 33 61 195 311

80 41 73 231 373

100 41 79 251 395

CAT.CS20-222C 2016-12



72

CA2

C
A

2
C

A
2W

C
A

2K
C

B
A

2
C

A
2m

Q
C

A
2K

W
C

A
2m

H
C

A
2W

m
H

40 100
 A + B = 1000

(mm)

2

/11 -XC11

/

CA2

CA2K

ACB

 B  A

AC
B

W

 A

W

ACB

 B  A

ACB

 B  A

ACB

 B  A

A
CB A

AC

 B  A

B

A

AC

CB

 A

B B-A

C
B A B

1  
0

1  
0 1  

0

A B

A

1  
0

B

1. 

2. 

2  
A

A

3) 
B-A

B-A

4) 

2  

A

2  

A

2  

B

Q
S +  (A + B)

ZZ +  (A + B)

GB B  A

(mm)

GB Q S ZZ
40 29 53 168 230

50 33 59 180 249

63 33 61 196 268

80 41 73 232 320

100 41 79 252 341

 

/

 A  B-A XC11CA2 Z
 

/

 A  B-A XC11CA2K
 

CAT.CS20-222C 2016-12



73

CA2 

ZZ + (2 × )

S + (2 × )

Q

GB

2

2

2 2

12 -XC12

/

CA2

(mm)

GB Q S ZZ
40 29 53 169 231

50 33 59 181 250

63 33 61 197 269

80 41 73 233 321

100 41 79 253 342

XC12

-XC2714

CA2D
CA2KD
CBA2D

/

CA2

CA2K

CBA2

D

SUS304

2A 3A 4A 5A 6A 7ACDP

  

XC27

XC27

04D 05D 08D 10DY XC27

13 -XC22

/

CA2

CA2W

CBA2

1  

2  

 1 : –10 60  
    : –10 70

XC22

 

40 100
500

(mm)

CAT.CS20-222C 2016-12



74

CA2

C
A

2
C

A
2W

C
A

2K
C

B
A

2
C

A
2m

Q
C

A
2K

W
C

A
2m

H
C

A
2W

m
H

FT FZ

F
V

N
X

: øNDH10

: øNDd9

RR1

L1

PY
ZZ + 

H

N
Z

CA2
CA2W
CA2K
CA2KW
CBA2

FV

-XC28SS40015

/

CA2

CA2W

CA2K

CA2KW

CBA2

(mm)

FT FV FZ
40 12 60 100

50 12 70 110

63 15 85 130

80 18 102 160

100 18 116 180

-XC2916

/

CA2  

CBA2

XC29

SS400

F XC28

F
G

 

(mm)

H L1 øNDd9 øNDH10 NX NZ PY RR1 ZZ
40 51 55 38 84 13 192

50 58 60 38 91 15 207

63 58 60 38 91 15 218

80 71 71 55 105 19 257

100 72 83 61 118 21 282

– 0.050
– 0.093
– 0.050
– 0.093
– 0.050
– 0.093
– 0.050
– 0.093
– 0.065
– 0.117

12

12

12

18

20

+0.070
0

+0.070
0

+0.070
0

+0.070
0

+0.084
0

12

12

12

18

20

+0.3
+0.1
+0.3
+0.1

+0.3
+0.1

+0.3
+0.1

+0.3
+0.116

16

16

28

30

 

CAT.CS20-222C 2016-12



75

CA2 

ZZ + 

S + 
nTT

H

Z GA

TZ
TX

ø
T

D
e8

T
Y

f

ø
e

(mm)

øe
f

40 28 14.5

50 32 16.5

63 32 14  

80 37 16   

100 44 17.5

CBA2

CBA2 

17 -XC30

(mm)

n GA H S TDe8 TT TX TY TZ Z ZZ

40 1000 23 11 66   80 22   85   62 117 55 151

50 1000 26 13 71   86 22   95   74 127 60 163

63 1000 27 13 79   94 28 110   90 148 65 179

80 1000 32 16 94.5 111 34 140 110 192 77.5 212.5

100 1000 35 16 100 121 40 162 130 214 80 229

15

15

18

25

25

–0.032
–0.059
–0.032
–0.059
–0.032
–0.059
–0.040
–0.073
–0.040
–0.073

 
 

18 -XC35

/

CA2

CA2W

CBA2

/

CA2

XC35

XC30TCA2

 

 

CAT.CS20-222C 2016-12



76

CA2

C
A

2
C

A
2W

C
A

2K
C

B
A

2
C

A
2m

Q
C

A
2K

W
C

A
2m

H
C

A
2W

m
H

-XC65XC7 + XC6819

/

CA2

CA2W

XC7 + XC68

XC65
(mm)

1600 1400

-XC6820

/

CA2

CA2W

(mm)

1600 1400XC68

CAT.CS20-222C 2016-12



77

CA2 

NSF-H1

-XC8521

1  

2  

3  
4  

GR-H-010 10g
5  

/

CA2

CA2W

–10 70

XC85

 ·························· 

 ·························· 

 ······················ 

CAT.CS20-222C 2016-12



78

CA2

C
A

2
C

A
2W

C
A

2K
C

B
A

2
C

A
2m

Q
C

A
2K

W
C

A
2m

H
C

A
2W

m
H

 Hs

59

RA RB

42

69

ZZ + 

S + 

-X1184–10 12022

(mm)

Hs RA RB S ZZ

40 57.5 4 13 99 161

1 50 st 

2  50 st 

2  220 st 

180 st BD1-04M

50 62.5 4 13 105 174 180 st BD1-05M

63 69 7 16 113 185 190 st BD1-06M

80 78 5.5 23.5 131 219 200 st BD1-08M

100 88.5 7.5 25.5 141 230 210 st BD1-10M

–10 120

B30  D-B30
B30J D-B30J
B31  D-B31
B31J D-B31J
B35  D-B35
B35J D-B35J

X1184CDA2 Z

S 1
2

n n

 WEB Best Pneumatics 2

 

/

CA2

CAT.CS20-222C 2016-12




